|

Delta21 3a

Delta21 3b

duo

Delta21 3a duo

Delta21 3b duo

0

—duo

i

|

Delta21 3a [duoO]
Delta21 3b [duo]

DRAWN BY: EF

DATE: 31-5-2021

REF.NO: fi_Delta21 3ab R

TITLE:

LAYOUT / FOUNDATION / BUILT UP / BASIC DIMENSIONS
OPENING TO THE RIGHT [R]

wl

PROJECT:

SLIDING GATE DELTA

DRAWING NO:

p08081

REV NO:

0

SHEET:

1v5




v

Af Bf
168 B
657 [ HMDLP230 Drive Unit ]
500 VO-YMvKas 3x2,5mm*—~_ | -360 for HMDLPBasic
250 ™ 158 [ HMDLP230 Drive Unit ]
| pvc 280-100 \ +26 for HMDLPBasic
i DOORGANG / OPENING = -0 |
| DURCHGANG / PASSAGE & I Il =
4 OPPNING [ . o <
— S ey=an. g v B B
o0 I o0 A
o . . Q
Y < BUITENZIJDE - OUTSIDE - AUSSEN - EXTERIEUR - UTANFOR S R
1 — JA 292 (min. 250)
5?23 wo /3 duo hekwerklijn/ Zaunflucht/fence line/ ol saduolhone
hekwerklijn/ Zaunflucht/fence line/ alignement cléture/ Staket”nje
alignement cloture/ staketlinje
Dm » 5v5 O
De » 4v5
V=210 » 3/3 We=86 » 3/3 Wm=15 » 5v5 wapening / Armierung / reinforcement /
35 - ferraillage / Armering 100x100-150x150 35
v B- | 1A B - Vo
T THE = = = SEllam = = = = = = = = == =
I maaiveld / Geléndehéhe / " L:::# | I S
||| ground level / niveau du Sol | | ||| 3
o . N | o
S H Markniva o ! | i Q
® I 230 ” | 0 N
|y 158 [ HMDLP230 Drive Unit ] | ~ U| .‘ﬁ
H | +26 for HMDLPBasic - — = = = == = = = — — — — — — L= =
B — | y-max 840 (2x) J-max 240 (2x) —- A B —
T 1 1 [
o |% lJ Type Afe Bf B
o | Q
3 K 3
N
30 2948
B I 2250 | 1800
A 1 . 40 3998
50 4898
¢75/ 2750 2300
A_A B_B 60 5798
70 7098
NL 85 8298 3250 2800
Beton C20/25.Trekdraad vooraf in PVC buis leggen en grond aanvullen na leggen kabel.
Afwijkingen in uitvoering zonder toestemming van Heras is niet toegestaan! FU N DATI E 95 9198

DE

Beton C20/25. Draht zum Durchziehen der Kabel durch die PVC-Rohre bauseits vorab einlegen.
Arbeitsraum im Bereich der PVC-Rohre erst nach Einzug der Elektrokabel auffullen.
Abweichende Ausfiihrungen nur nach Ricksprache mit HERAS Niederlande!

EN

Concrete C20/25. Place pull wire in advance in PVC. Fill up working space around tube after placing electro kabel

Modification in execution without permission of Heras is not allowed!

FR

Béton C20/25. Fourreau avec aiguille pour tirage des cables. Les fourreaux doivent rester accessibles pour le passage des cables

Toutes les modifications effectuées sans autorisations de HERAS est interdite!

SV

Betong C20/25. Légg kabelrér med dragtréd. Aterfyll schakten efter rérlaggningen

Andring av utférandet utan tillstand fran Heras ar ej tillatet!

FOUNDATION
FUNDAMENT
FONDATION

Delta21 3a [duoO]
Delta21 3b [duo]

DRAWN BY: EF

TITLE:

DATE:

31-5-2021

REF. NO:

fi_Delta21 3ab R

OPENING TO THE RIGHT [R]

LAYOUT / FOUNDATION / BUILT UP / BASIC DIMENSIONS

i

2

UNIT: mm H

J

PROJECT:

SLIDING GATE DELTA

DRAWING NO:

p08081

REV NO: SHEET:

-




A » 4/5v5 B » 1/4/5v5
3 E D C L
3 D 3
3 | AN 3
N S v i O C %)
o 2 ==
(q\] 8 P | e domedt e e e ce— = —‘——Q-Q)—O E o
| 8 A S — I
o—!—o | o—!—-o——J\— ————————————————————— —‘——0— —e
{ i i
- L s
hekwerklijn/ Zaunflucht/fence line/ hekwerklijn/ Zaunflucht/fence line/ -
alignement cléture/ staketlinje alignement cléture/ staketlinje
= =I= =
6x 218x130 ¥ 135 (183) 100 135 ~6x018x130 ¥ 135
M16x200 [ M16x200
3x 218x130 ¥
8 S S /M16x200
—o—
Yor | 4 ' txtg
N | NE | NE o | Extra —
o IR BN S vm oo . N A . Delta 3b / 3b duo
> 1 i > 1 > |
oy [ o N [ N | 3x 318x130 ¥
M16x200
+ + ) ++ ) # )
< —o— < I i <
_ A _ A & _ R
o |7+ S i S o
Extra — —/ Extra — Extra —
Delta 3aduo/3bduo 116 64 64 116 pelta 3a duo 64 116 Delta3b duo
2x 218x130 ¥ 2% 318x130 ¥ 2x 218x130 ¥V
M16x200 E D M16x200 C M16x200

UNIT: mm

Delta21 3a [duoO]
Delta21 3b [duo]

DRAWN BY: EF

TITLE:

DATE: 31-5-2021

REF. NO:

fi_Delta21 3ab R

LAYOUT / FOUNDATION / BUILT UP / BASIC DIMENSIONS
OPENING TO THE RIGHT [R]

J

el

PROJECT:

SLIDING GATE DELTA

DRAWING NO:

p08081

REV NO:

0

SHEET:

3vd

-




L1
AN
(o)}
AN
T << CLOSED <<
hekwerklijn/ Zaunflucht/fence line/
alignement cléture/ staketlinje
AN
(Q\
duo— >> OPEN >>
L I X =
|
| : |
De !
. G : -
l a
u' AN ! |
- S === e =
V=210 |  We=86 o2
i +
X -~
X-X A B R |
Ll
— Uemax
o o
2 T
2 2 - IR 300 (outside) _.
S o To) Tp) *
o o 1o T
o O [ 3 5 5 NL > 55 niet toegestaan! Tenzij ankerstangen in overeenstemming zijn verlengd om
™M 0 © ] verankeringsdiepte te waarborgen en constructieve beton is aangebracht!
0_: D_C S e DE > 55 nicht zuldssig! Es sei dann die Ankerstangen sind entsprechend verlangert und
= = Konstruktive beton ist angebracht
Tp) To) EN > 55 not allowed! Unless threaded rods are accordingly extended to maintain anchorage and
) ™ | ™ constructive concrete is placed
\ * L * FR > 55 non permis! Sauf si les tiges d' ancrages sont suffisamment rallongées de fagon a
TV B RER ——1 G ) maintenir I'ancrage et si du béton constructif est utilisé.
SV Avstandet mellan betongfundamentet och fotplatta far inte overstiga 55. Om detta sker maste
IR 500 (inside) undergjutning utféras
n bars I UJ/U [ ]
type | total L1 L2 L B R Ae De Uemax | m [Kg] Delta21 3b [duo] R
30 34 5150 5150 1800 3320 3365 3072 8858 186 UNIT: mm
40 41 6200 6200 4370 4415 4122 10958 219 DRAWN BY: EF TITLE:
50 50 3800 | 3800 7688 2300 gf78 2215 5822 13552 ggg oATE. 31-5-2021 LAYOUT / FOUNDATION / BUILT UP / BASIC DIMENSIONS
60 56 | 4250 | 4250 | 85 ! S 205 T OPENING TO THE RIGHT [R
70 68 5150 | 5150 | 10300 7470 | 7515 | 7222 | 18158 | 350 Rer.No: i Delta2t 3ab R Rl
o5 |53 | oso0 oo | zsoa | . |“oero | osis T ooss T ameee T oo | IHIEINLIPAES | stion
95 82 6200 | 6200 | 12400 9570 | 9615 | 9322 | 22358 | 327 SLIDING GATE DELTA p08031 0 | 4v5




292

hekwerklijn/ Zaunflucht/fence line/
alignement cléture/ staketlinje

<< CLOSED <<

N
(Q\
qgl >> OPEN >>
duo—
= -E: Z _4' f-
i
Dm !
| §
' []
J | H
[}
TN
| | | i
— - - - - _|_ - g gy - _ _
V=210 | Wm=15 3
i H
[}
Z
A — B R |
Z-Z '
Ummax
= = *
3 2
. [ ] . NL > 55 niet toegestaan! Tenzij ankerstangen in overeenstemming zijn verlengd om
é (>é verankeringsdiepte te waarborgen en constructieve beton is aangebracht!
e = DE > 55 nicht zulédssig! Es sei dann die Ankerstangen sind entsprechend verlangert und
— _ Konstruktive beton ist angebracht
5 E) | EN > 55 not allowed! Unless threaded rods are accordingly extended to maintain anchorage and
(90 (42 constructive concrete is placed
* 3 * ) ‘ﬁl:"lﬂ' H FR > 55 non permis! Sauf si les tiges d' ancrages sont suffisamment rallongées de fagon a
B e — maintenir I'ancrage et si du béton constructif est utilisé.
SV Avstandet mellan betongfundamentet och fotplatta far inte 6verstiga 55. Om detta sker maste
undergjutning utféras
DIEL [ Delta21 3a [duo]
type total L1 L2 L B R A Dm | Ummax | m[kg] / R
30 | 34 | 5150 5150 | | 3320 | 3365 | 3172 | 8805 | 186 . L‘/ Delta21 3b [duoO]
40 41 6200 6200 4370 4415 4222 10905 219 -mm
50 50 3800 3800 7600 2300 5270 5315 5122 13205 264 DRAWNBY: EF TITLE:
60 56 4250 4250 8500 6170 6215 6022 | 15005 203 DATE:  31-5-2021 LAYOUT / FOUNDATION / BUILT UP / BASIC DIMENSIONS
70 68 | 5150 | 5150 | 10300 7470 | 7515 | 7322 | 18105 | 350 rer.no:  fi_Deltaz1 3abR | OPENING TO THE RIGHT [R]
85 76 5750 5750 11500 2800 8670 8715 8522 20505 241 ||m |||||||||‘|m |m mml ||||I|||IH PROJECT: DRAWING NO: REVNO: | SHEET:
95 82 6200 | 6200 | 12400 9570 | 9615 | 9422 | 22305 | 327 SLIDING GATE DELTA p08081 0 | 5vd




